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___________________________________________________________________________

Rohde & Schwarz simulated cell reselection in idle mode repeated times and established delay distributions.

In the existing procedure the cell quality swaps every 15 s.

The Ue shall react on  the cell quality swap within 8 s (statistical defined soft limit)

We found two problems with this procedure.

First Problem:

 Due to the statistical nature there is a probability > 0 that no registration message occurs within 15 s.

There is no rule, how to cope with this situation?

1) finally fail the DUT

2) add 15 s delay time and do not increment the number of registration messages

3) add 15 s delay time and increment the number of registration messages

compared with a cycle > 15s

1) too strict

2) too strict

3) too loose

Second Problem

Due to the statistical nature there is a probability > 0 that a registration message addressed to the weaker cell occurs . The probability of occurrence increases with time. Due to the procedure the test against the  wrong message  is not  well defined. 

(For a DUT on the limit (8s)  it is tested for  7 s ( = 15s-8s)  per cycle against this wrong message. For quicker DUTs it is tested longer, for slower DUTs it is tested shorter against this )

If it occurs, there is no rule how to judge. 

Proposal

1) After a cell swap, measure the delay to the registration message.

 If it does not occur within [30s], fail the DUT finally

2) After the registration message occurred, check that there is no registration message to the weaker cell within [10s]. If it occurs, fail the DUT finally. If it not occurs,  swap the cell quality [10]s after the registration message. Goto 1

The delay shall remain under 8s in 90% of the cases. By sufficient repetitions of (1) and (2) the final verdict shall be done with a wrong decision risk <5%. 

